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European Commission, Amended Framework for Consultation on Solvency
I, April 2006,MARKT/2515/06
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11. CEIOPS Pillar 1

1.
2.
3. SCR;
4. SCR;
5.  MCR
6.

CEIOPS, Advice to the European Commission in the Framework of the
Solvency Il project on Pillar | issues - Further advice, March 2007
CEIOPS, QIS3 Technical Specifications, April 2007
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= SCRop=MIn(BSCR>=<30%,
Max( Plife>< 3
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SCR

]
BSCR = [S CorrSCR__ e« SCR_« SCR_

O

CorrSCR SCR mie SCR gt SCRys SCR

SCRmie 1 0.25 0.25 0.25

SCR et 0.25 1 0.25 0.5

SCRys 0.25 0.25 1

SCR 0.25 0.5 0 1

QIS3
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SCR

L
SCR,. = |S CorrMkt, . » Mkt, » MK,

M
CorrMkt MKE e Mkt . MKt prop Mkt., MKt cone Mkts,
MKt e 1 0.25 0 0.25
Mkt o 1 0.25 0 0.25
MKt prop 1 0.25 0 0.25
Mkt., 0.25 0.25 0.25 1 0 0.25
MKt cone 0 0 0 0 1 0
Mkte, 0.25 0.25 0.25 0.25 0 1
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AAA dur
AA dur
A dur
BBB dur
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conc

Mkt = M,'rz Conc’

Conc, = Assets , « XS, o[f, +f, « XS.] XS, = max{D;L— CT}
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= QIS3 SCR

R=0.5 Vasicek

v 0.3 | R -..T_,‘
Def, = RC -[N[(l ~R)" «G(PD) + VI-R *6(9-99-)]}

R=1
Defi=RCi Min(100PD;,1)
= R
RCy,
PD, 0.002 30.41
N; G N

R=0.5+0.5xH
H=(>RC?)/( > RC)? Herfindahl index

40



s QIS3;

A o ® < 1 ©

7. CAT

41
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|
SCRy. = |> Corrlife, .  Life, » Life,

|

CorrLife Lifemort Lif€iong Life g Lifeispse Lifeap Lifecar
Life ..+ 1 0 0 0
Lifejang 0 1 0
Lifegs 0 1 0 0.5 0
Lifelapse 0 0 0.5 0
Lifeay 0.5 0.5 1 0
Lifecar 0 0 0 0 0 1

0.25
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N Q'Sg,
s V=
m O
» P(O  [exp Nygos Viog O /N O ]-1

No.g95= 99.5
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LoB V
V(res,lob)=PCOlob;

V(prem,lob):I\/IaX(PW”tte”, Pearned 1.05x< pwritten
O (res,lob) 7.5 20
O (prem,lob);

LoB 15

= 1. Accident&health(workers’ comp), 2. Accident&health(health),
3. Accident&health(other)H, 4. Morter(3" party), 5.
Morter(other), 6. MarineAviationTransfer, 7. Fire, 8. 3" party
liability, 9. credit, 10. legal exp., 11. assistance, 12. misc., 13.
reins.(property), 14. reins.(casualty), 15. reins.(MAT)
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